Dammam Community College
MATH 011  

Past Exam Questions

R.3
1. Find the degree n and the leading coefficient L of the polynomial 
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Answers:       n = 7  and   L =  ​– 54  
2. Write the polynomial  
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 in standard form.  
 Answer:  
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3. Find the polynomial, in standard form, of the third degree for which: the leading coefficient 
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 coefficient of 
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= 0, coefficient of x = 3, and the constant term = – 4
           Answer:  
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4. Let P = 
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a) Write P as a polynomial in the standard form.      Answer:   
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b) Find the leading coefficient of P.     Answer:  
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c) Evaluate  P  for x = –1.                     Answer:   
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5. Find the sum of the coefficients of 
[image: image11.wmf]2

y

 and 
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 in the product 
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Answer:  
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6. Simplify 
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. Write the result in the standard form.
Answer:   
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7. Find the value of the coefficient of  
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.   
 Answer: 
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8. If A is the leading coefficient and B is the coefficient of x in the polynomial  
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, then find the value of A + B = 

Answer: 
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Hint: Use the special product formula  
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9. Simplify the expression 
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Answer: 
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